ﬂ Solving Two-Step Equatlons |
N 12-1

Lesson Objectives
Solve two-step equations

Additional Examples

Solve.
9¢+ 3 = 39

—‘ —21 ﬁ Subtract LBJ from both sides.

S¢

‘ 9 ‘= 9 | Divide both sides by 92 _

L5 |
(\ti%: (L 5‘) 15 Multtply both sides by 5 _

i@ i Subtract@ from both sides. -
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|LESSON 12-1 CONTINUED

Let d represent the number of days she rented the canoe.
7.5d + 85 = |

—35 —-@ Subtract EJ from both sides.

h - ."[ lﬂ  Divide both sides by | 5.

7
Jamie rented the canoe for IG' days.

N G- 1-8=-50
vem.  —bM-8=-50
e A8 8
| | -lpm.~—-.42

‘
|
|
]

2, Solve. |
8+ =48 “ 1= 7’

3. Jack’s father rented a car while they were on vacation. He paid a rental

fee of $20.00)per day plus-28¢-a-mite. He paid $25.00 for mileage and
his tofar o for renting the car was $165.00fFor how many days di

e car?
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Date Class
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iPall Solving Two-Step Equations 0 2 3 ] S
You can solve two-step equations by undoing one operation at
a time. First undo any addition or subtraction, then undo
any multiplication or division.
Complete the steps to solve each equation.
1. 7x+ 3 = 31
7x+3—-__ =31—__ «— Subtract ___ from both sides to undo addition.
7x=28 '
/x 28 . . e
— =— «———— Divide both sides by __ to undo multiplication.
‘x=4
Check
7x+ 3 =31
7(__)+3231 «— Substitute __ for x.
__+3231
31231 «— 4is a solution.
2. §-8=4 3. 8a—5=11 4. 9+35 =12
§-8+_ =4+ _ 8a—5+_=11+_  9-__+3=12—__
n_ = w_
5= 12 8a=__ 5 = —
5.%:_.12 8—=1— z.%:_os
n=__ a=__ w=__
Solve.

5.4n+ 11 =27
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Name Date _ Class

Practice A
IVl Solving Two-Step Equations

Solve each equation. Cross out each number in the box that
matches a solution. :

6 -8 -4 -6 —18 -3 2 4 8 3 18

T E318223 | , 2B A=
1.5x+8=23 . 2.-2p-  3.6a-11=13
_—-8-8 +4 +4 -
sy=[5 —Zp b
5 K -2
A _
4.4n+12=4 5.99+2 =20 6.5+8=5
“8 -8
A
S & a :
7.5-4=2 8.5+5=1 9.9+4=8
Solve. Check each answer.
10.3v—12=15  11.845x= =2 122 9= -3
+9 19
49264

13. An electrician chargeo come 1o your house. He also charged $28
hour he spends at youriouse. The electnman charges you a total o $125
spend af your house

3@’ + o hoWS =3 hrs
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